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A thermometer of mass 60 g and specific heat 836 Jkg K reads 10 °C. It is then
completely immersed in 150 g of water of specific heat 4190 J/kg K. The final
temperature reading of the thermometer in the water is 45 °C. Find the initial temperature

of the water assuming no heat losses from the system to the environment.
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How much water rémains unfrozen after 50 kJ 1s transferred as heat from 500 g of water
Initially at 10 °C. Specific heat of water = 4190 Jkg K and the heat of transformation of
ice is 333 klkg.
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A gas is taken through the cyclic process shown in the figure. What is
a. the work done on/by the gas? Is work done on the gas or by the gas? Explain.
b. the heat gained/lost by the gas? Is heat gained or lost by the gas? Explain.
c. the change in internal energy of the gas during the cycle?

CQ Wor\k‘:_ hvea "EV\&QO‘(TQ_A

2
.: jiLc;_fs}(lA)xiv E l 12
- \xlbgj
Sihee

Bj DE+ :,-O %fr* oy o%c,om me

[~ To00T | heat ook by bhe gas.

H Q=W =

- | —— -
Y O%cp.e. L Cowhj-&“cQOCfew:&,l W= — lood t

ek Aﬁﬁﬁegq; '



